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Nuclear Decay \‘l

The following atoms all undergo alpha particle emission. Write the complete nuclear equation,
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The following atoms all undergo beta negative decay. Write the complete nuclear equation.
JiQopis [/ 58
14 (Qon0 (L Aoy
6 cC - _-\% + 7 N
o .
Y6 = =18 L el
38 ‘
r { =
o _Lsial! ~ ‘-{0 o Y
Y o a2 1 g6la
19
@ 13
173N 2% S 4 g

|
i

The following all undergo beta positive (positron) decay. Write the complete nucléar eqiiation.
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Complete the missing information in the reactions. Then, label the reaction one of the followmg
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Write nuclear equations that describe the following processes:

- Uranium-235 undergoes alpha decay to produce Thorium-231.
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- Lathanum-144 becomes Cerium-144 when it undergoes a beta decay.
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- The beta positive decay of Dysprosium-165 creates a new element
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What atom produces Scandium-47 when it goes through a beta ncgatlvc decay?
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What new element is formed when Curium-244 emits two alpliéi particles and three gamma rays?
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